RDC-1000 assembly instruction

Step 1

Cotter pin



tariq
Rectangle


Step 3




Step 4

Hex head bolt 4-M6%*18




Step b

Hex head bolt
4-M8%18

=
o
g ®
@
L
= [
=] Yo
[
g
@
o

%;ggJﬁgﬁib

= =—__ Washer 4-M8

~ Nut 4-M8

Lock washer 4-M8
: Paint build up inside the hole

o may cause M8 bl fo ner '
Nut 4-M8 Hex head bolt
1-M8%18
asher 4-MS8
F
[/



tariq
Text Box
Note: Paint build up inside the hole may cause M8 bolt to insert harder. Please push/press the bolt in if it is harder to get in. 

tariq
Line


Step 0




	RDC-1000 assenmbly instruction manual2_页面_1
	RDC-1000 assenmbly instruction manual2_页面_2
	RDC-1000 assenmbly instruction manual2_页面_3
	RDC-1000 assenmbly instruction manual2_页面_4
	RDC-1000 assenmbly instruction manual2_页面_5



